
���� ����	
�����
�
����������������������
���������

TABLE 3-4.  Abortions in Relation to Length of Gestation by Method,
Complications, and Age of Patient, Oregon Occurrence, 2001

Method, Complications and
Age of Patient

Total
Weeks Gestation

< 9 9-12 13-16 17-20 21-22 23+ Unk.

Total ....................................... 14,272 8,557 3,887 932 529 172 124 71

Method

Suction curette ........................ 12,534 7,770 3,868 727 81 27 7 54
Medical (non-surgical) ............ 788 746 2 1 13 12 9 5
Dilation & Evacuation ............. 867 15 11 200 411 120 106 4
Intra-uterine Instillation ........... 17 13 3 1 – – – –
Vaginal Prostaglandin ............. 38 – – 2 21 11 1 3
Sharp Curettage ..................... 15 10 3 1 – – – 1
Hysterotomy / Hysterectomy .. 5 – – – 3 – – 2
Other ....................................... 5 1 – – – 2 1 1
Unknown ................................. 3 2 – – – – – 1

Complications

None ....................................... 14,089 8,447 3,841 923 518 169 120 71
Hemorrhage ............................ 5 1 4 – – – – –
Infection .................................. 33 22 6 2 1 – 2 –
Uterine Perforation ................. 1 – – 1 – – – –
Cervical Laceration ................. 4 2 – – 2 – – –
Retained Products .................. 82 46 19 5 8 2 2 –
Failure of First Method ............ 7 7 – – – – – –
Other ....................................... 38 23 13 1 – 1 – –
Multiple complications ............ 13 9 4 – – – – –

Age Groups

< 15 ........................................ 64 31 22 7 2 1 – 1
15-19 ...................................... 2,622 1,339 857 222 121 45 29 9
20-24 ...................................... 4,922 2,878 1,402 333 187 52 43 27
25-29 ...................................... 3,064 1,962 750 188 99 32 22 11
30-34 ...................................... 2,024 1,313 510 107 51 16 17 10
35-39 ...................................... 1,158 765 259 53 49 18 12 2
40-44 ...................................... 366 241 76 20 16 6 1 6
45+ ......................................... 37 23 6 2 4 1 – 1
N.S. ......................................... 15 5 5 – – 1 – 4

– Quantity is zero.


